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ECONOMICS Cool-off time : 15 Minutes
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General Instructions to Candidates :
® Thereisa ‘Cool-off time’ of 15 minutes in addition to the writing time.
® Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
® Read questions carefully before answering.
® Read the instructions carefully.
® (alculations, figures and graphs should be shown in the answer sheet itself.
® Malayalam version of the questions is also provided.
® Give equations wherever necessary.

® Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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PART -1

A. Answer any 4 questions from 1 to 6. Each carries 1 score. 4x1=4)

[a—

The book ‘General Theory of Employment, Interest and Money’ was written by
(a) Adam Smith (b) Alfred Marshall
(¢) J.M. Keynes (d) David Ricardo

2. Profit is the difference between
(a) Total Revenue and Total Cost
(b) Total Revenue and Total Variable Cost
(c) Total Revenue and Total Fixed Cost
(d) Marginal Revenue and Marginal Cost

3. At the Break-even-point, the firm faces
(a)  Super normal profit (b) Normal profit
(c) Abnormal profit (d) Loss

4. The want satisfying capacity of a commodity is known as
(a) Demand (b)  Supply
(¢) Utility (d) Elasticity of demand

5. Which one of the following is a Stock Variable ?
(a) Wealth (b) Income

(c) Investment (d) GDP

6.  Which of the following is included in the current account of balance of payment

(BoP)?
(a) External borrowing (b) Purchase of assets
(c) Foreign Direct Investment (d) Trade in goods
B. Answer all questions from 7 to 10. Each carries 1 score. 4x1=4)

7. The market with a few sellers is known as :
(a) Perfect competition (b) Oligopoly
(c) Monopolistic competition (d) Monopoly
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PART -1

A. 1 2)@@8 6 Q190 ¢a1o3iIBEled aBo@BIEe 4 af)INATIM DOMOOAI®)d.

1 ¢capod aflow. “Ax1=4)
1. 4 2mocd Gl@dl 80a0" af)ocalo®eaad, MOV @RAE aeml o) alqPdo

)9O,

(a) @RWo mflor (b) @B N NOBaH TS

() o.af)o. oBHOIBAV (d) ecwallawdlesodeano

2. ®06¢ MBI TN oo @686 @RlLNNs QY@ PAVAT LI0Eo.
(a) ©@B AIB)AIMAI HAIBo AalLI0l)o
(b) @@E AIGYAIMAI HRITIo ANECEBH: HalLlnl)o
() 6@ AUG)AIMAI HAIBe AULIO Halrl0lo
(d)  cilmoam aley@malne MSlAa® e alelal)e

3. GEIE9-DDAIM-CalodlBI@ 30} 9ejsm@)emlg @rEnalla:denm.

(a) @ralo® el (b) avoworem eI
(c) @RAVLOWIEM RIOR (d)  mayo

4. @RQIUdY M@ lla:@lenomss 60} alqualead &¥lal @rdlweals)am®.
(a) ©a198Mo (b)  (1BoMo
() SalW)BO® (d) carosmoniand menqilao

5. ©069 MBB3HIVNBEN)N 2106BE]G3 CURIOCAMIS ?
(a) avauo (b) @M

(c) easial (d) GDP

6. ®oey M@HVBEHMAUIGE  ag@oem @osal  Udlayonieer (BoP) &0ad

) S9VENEI B3 ©UBOA|S)AND ?
(a) afleswo aloWal (b) ©RAWIBHUB Q1061BE3
() alleBwd (aI®yeu AleaHalo (d)  2106BHHB)OS Q1401000

B. 7 2)®08 10 Q160 af)£10 G230} QOMONAY®)d. 1 ¢apod allo.

4x1=4)
7. Q1860 3)0sf Ale|MEHIB D@MBS HEMIOBo GRAIWE[SIAN®
(@)  andem AGNLE HEMIIBo (b) @repdlvodmio
(c) B)OMBIUWHCIG AGTVO d) B
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8.  The price elasticity of the following demand curve is

8 D

&

Y 4  Quantity
(@) eP>1 (b)y eP<1
(c) eP=« (d eP=0

9.  Ina perfectly competitive market with free entry and exit, the equilibrium price is
(a) equal to min AC (b) greater than AC
(¢) lessthan AC (d) equal to min MC

10. The ratio of nominal GDP to real GDP is

(a) Consumer Price Index (b) Wholesale Price Index
(¢) GDP Deflator (d) Producer Price Index
PART -11
A. Answer any 3 questions from 11 to 15. Each carries 2 scores. B x2=6)

11.  Write two examples for substitute goods and complementary goods.

12. Distinguish between short-run and long-run in the production process.

13.  What do you mean by market equilibrium ?

14. Elucidate intermediate goods with example.

15. Write the appropriate economic term for the following :

(a) The rate of change of consumption as income changes.

(b) The rate of change of saving as income changes.
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10.

11.

12.

13.

14.

15.

®06¥ MBIV THNAN G2103M QlBHODNONG allel el ila®

d D

a

O qd  aidlmoemoe
(@) eP>1 (b) eP<1
(c) eP=« (d eP=0

@RYNAM MIadlBNAM TVPEOEMIMSS a)3EN AGTVO SHECMOBOTIG qLAME®
afler

(a) olddlme AC @ee) @e1moidlen)e
(b) AC cos9IUd 3)5)®eI]Blea)e

(c) AC ca0id 30010 Glee)e

(d) 2lddlme MC o) melynoldens

alémoond (nominal) GDP @) @unodmn (real) GDP ®@p oodlenss
@RM}AIO®AIEM).

(a) @alceosmYONEI V)2 flB (b) cmoo® aller qvyaile,
(c) GDP alfleagg® (d) 2e)ss aillel q)ailse
PART -11
11 2)®@8 15 190 ¢a16iBgElal «go@alene 3 af)anamlmn OMOOA)®)D.
2 capod afle.. Bx2=6)

(IBIAVN0aIM AIGVIENWBEN) alOIYO alj0d AUIRBOUBEN AENE DBIAOOMEBU3
afl®o af)9)®)d.

2LPBM  (UBIVIT (a0 HORIVSANe  [l@eLl BILIVSAIPL  af)OaHAT
IO HET IO

SCAUIS TVo@ENGOAUILL af)IM@) HBHITRA@MNNISNIMODET) ?
s aflel 9ejamem B (intermediate goods) 32206 AVACI@o QIYGHAIHE)D.

@061 MBI WA GRMCRVORINOW MVIMITIHD alBo af) )@ :

(@)  QEPOMOBIGE A0QANEIGIEMIOND DaICEINDTIGS  AIQAETBIMINGIO]
aoss).

(b)  EPOMOBIGE 20QAENBIMEMIGE  AVMIOVBIOTIGE  AIQAENBIM NGO
Toss.
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16.

17.

18.

19.

20.

21.

22.

23.

B.

24.

Answer any 2 questions from 16 to 18. Each carries 2 scores. 2x2=4)

List the major sectors in an economy according to the macro economic point of view.

When price of Apple increased by 20 percent, the quantity supplied of Apple
increased by 30 percent. Calculate the price elasticity of supply.

Mention two motives behind the demand for money.

PART - 111
Answer any 3 questions from 19 to 23. Each carries 4 scores. Bx4=12)
Distinguish between centrally planned economy and market economy.

What are the main functions of money ?

(a) List the characteristics of monopoly market. ?2)

(b) Draw the average revenue and marginal revenue curves of the monopoly
market. 2)

Equilibrium output and aggregate demand are determined in the following diagram :

(a) Identify the components of Aggregate Demand. 2)
(b) Show the changes in the equilibrium when autonomous expenditure increases.  (2)
AD
e
ADfF----= N\
x|
45° |
0) y Output

Explain the objectives of government budget.

Answer any 1 question from 24 to 25. Carries 4 scores. (1x4=4)
(a) Draw Marginal Product Curve and Average Product Curve in a single diagram.  (2)

(b) Identify any two relationship between them. ?2)
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16.

17.

18.

19.

20.
21.

22.

23.

24.

16 a)®@3 18 190 ¢a1034BSET oBO®BIEe 2 afANOVIM DODMOOAYL®)ch.

2 capod afle.. 2x2=4)
quoel  QVOMIAS:  HO¥alaosl@d, @)  aLVAUE  AIQITUOXIOR! (A IWIM
CRAILIGHEZOGIOSHOQAT) LAY 612 109))d.

@aflgload aflel 20 vo@admo aIBeUlajeajod @GO (@IBdMo 30 YVAIMo
aIdebla)). (1B0M@TNOA3 aller HLIAID® BHEAMENISRN) D

aleMAINO G G2 loBMOHM) aflaTlensss 0ene Gl U3 TV)a fla loe .

PART - 111
19 ay®@3 23 160 ¢a18iBEIal aBO®lENe 3 af)ARATIM 2OMOOA)®)D>.

4 capod alloo. Bx4=12)
¢ (Bl {® @RHYAVY@EM TLMUB AIYAINLOD)o GHEMUIBAVMIG AAUTVOD]o af)AHANAT
IO HET IO

aleM@DTNOAS (alWOM WA2AEBUD el ?

(@) OO HECNOBTNOM TVANCUOHDDHUB LATY O2 1) . )
(b) S)ODB BHEMDSOTHOL! MVEOWE AIEIAOM AUl AVIAND  QIGRIM
QYo QAUOBN ). 2)

@IS HNISYTD WO TLaMEl® DejMmale Ve l® ¢aldodmale (AD)

mBemlafidlaeymm;. :
(@  aveil® catsmoniend (AD) ceisaanud Gldlaolw)d. 2)
(b) au@o (GaEl®  ealelai  (Autonomous  expenditure)  QIBaUla]o@d
TLOmEN@OQITNOWILIENBIGIAM 20Qo AWRUNDTIGE BN D )
AD
P
ADfF----= N\
v
45° |
O y LMo

VA9 enuRlond e1ayeTUd lvodld:dlHe)m.

24 a@@d 25 Q190 €a13ySEIol aBE®BIENe BHANATIM 2ODMOOAI®]D>.

4 capod. (1x4=4)

(@) ailaoam Dejam Qlgho, UORINGE L|N Alido f)aIAI BCO AWWNGITIGE
QIQHN) . 2)

(b) @R ®ENSS AFOMEIEI)e BNE NUMLEBUB GGl o). 2)
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25. Match the following :

A B
GDPat Factor Cost GNP, ;, — Depreciation
NNPat Factor Cost GDP, , — Depreciation
NDPat Market Price | NDPj, + NFIA
NNPat Market Price | GDP, ;, — Net Indirect Tax

A. Answer any 3 questions from 26 to 29. Each carries 6 scores.

26. (a) Complete the short-run costs table.

PART - IV

Output | TFC | TVC | TC SAC | SMC
0 20 0 - -
1 20 20
2 20 30
3 20 34
4 20 40
5 20 60
6 20 100

(b) Draw SAC and SMC curves in a single diagram.

27. Distinguish Price Ceiling and Price Floor with the help of diagrams.

28. Differentiate the following with examples :

(a) Revenue Receipts and Capital Receipts

(b) Revenue Expenditure and Capital Expenditure

29. (a) What do you mean by Exchange Rate ?

(b) Briefly explain Flexible Exchange Rate and Fixed Exchange Rate.

SY-35
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25, Gal®)oalS] Gal@MN D :

A

gdl.alll.all. apIsd; Halelal
@RSINomMadesil (GDP )

GNPy — COXRNIMo

af)M.ag)@.all. °LISH; Oaleial
@sInunomaosssl (NNP.)

GDP,p, - COXRNIMo

af)B.all.all. demios afleiiod NDP,. + NFIA
(NDPyp)
af)B.af)B.all. SHem108 aflle1od GDP,, — @0Q a1G00a::0I0,)0)
(NNPMP)
PART -1V
A. 26 2)®@3 29 190 €a1o3iEI3 oBEOBILS 3 afANOTIM DOMOORH;)D.
6 capod ailo. (3x6=18)
26. (a) (AOQVIBILI HaILINNUD BB alSld: a )BT BB, €)
oejame | TFC | TVC | TC | SAC | SMC
0 20 0 - -
1 20 20
2 20 30
3 20 34
4 20 40
5 20 60
6 20 100
(b) SAC, SMC Qi(B6553U3 6360 WU BTG AL . 3)
27, wowonilend  eooeomoes  allel  aldlul®@p @oaflei®pe @23

eI DEFTHIII N

28. @96y M@HIBILN)IMAIND HBIOEM TVadl@o CAIRGIGEI62|$ )™M :

(a)
(b)

29. (a)
(b)
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B. Answer any 2 questions from 30 to 32. Each carries 6 scores. 2x6=12)

30. Explain the monetary policy tools of RBI to control money supply in the Indian

Economy.
31. (a) Compare Open Economy and Closed Economy. 2)
(b) Explain the three ways in which an economy interact with rest of the world. “)

32. Observe the following diagram :

Draw the changes in budget line when

(a) Income increased from ¥ 50 to ¥ 70. 3)
(b) Price of X, decreased from I 10 to ¥ 5. A3
PART -V
Answer any 2 questions from 33 to 35. Each carries 8 scores. 2x8=16)
33. (a) What are the features of indifference curve ? 3)
(b) Diagrammatically explain the optimal choice of the consumer. 5)
34. (a) Identify the three methods of measuring National Income. A3
(b) Explain any two methods of measuring National Income. )
35. (a) What are the features of a perfect competitive market. 3)

(b) Diagrammatically explain the profit maximisation conditions of perfect
competitive firm in the short-run. )
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30.

31.

32.

33.

34.

35.

30 2)®@3 32 2160 ¢alodiBSElad aBe®Blene 2 afgROTIM DOMOOBY)®)d.
6 capod alle.. 2x6=12)

HImId avmud” alyITuNlee! aleMOTNOG (2180Mo WEBIlEaM@IMmow] RBI
DalGIUABNMM alaMMW DaldWldhud AflaIGlEe)d:.

(a)  ©@OaM LM AINITVNW)o BRSHTIN TVMIB QAIJAITVLOW)o GVVMAL AalPd.  (2)
(b) ®0) auaus’  aiiaun agQ  GERSHIVMIE  QIITUNGHAOW]

MITWORSIAM@IMES 2)aM 20BN ANKOElBHEIH6 ). ©)

@069 M@V BB WD (o MBI B:486)B

X
1 2 3 435 1
@069 M@BHIVIBHH)M NIRY HOLITIOLI BIGEBUZ WR(NBOINGS COEIO|SIOI)D.
(a) E@OMo 50 ®)aIi@3 Mlan)e 70 @)alWoW aIdevleanam). 3)
(b)y X, eqailel 10 0)10led alanie 5 0)al@owf &0@am). 3)
PART -V
33 2)®@ 35 190 Ga108)EBHEle8 @EOBILNe 2 AfIANOIID DODOOA) ).
8 capod all®.. 2 x8=16)
(@  28008lm al@eTOad AVANECNHDGHUB ag)HADEI0 ? 3)
(b) WRWOTIOP TVAOIVWETNOS DalGRISMINNN @MeI® (optimal)
O@eTMS)a| OlUodlhE1He)b . 5)
(@) eBUEl AIB)RIMo &HEMENIBNMGTIMBS MM AlGBHUB G2 |Glw)d:. 3)
(b) eBUWl® QIE@OMo  GHEMENISNMBIMBE  aBO®BIEI e BlGNSHUB
aflvodledlee). S
(@)  andem 2aENE GHEMNIOSOTNOMG MVANEUHDBUB af) HINELI0O. 3)

(b) ancx»«ncmﬂoc@ MVANIWEDBNIS,  (AOAV|GHILIVSOIlT3 m;«‘ism AGILO
HEMOGODIOL!l  2e[PEm@ENIY  eNEo  alEAdAIWIVOEMMTIMSS
AIMNN&U3 Al VOBl @1 B0 )
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